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Separation funnel

Burette
Mzgaal
H| 7
Magnetic bar
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0.5N, 1.0N, 1.5N, 2.0N
acetic acid

0.5N Sodium hydroxide

1-Butanol
K| A 2 ==& Q)

250 ml
50 ml

100 ml
100 ml

~200 °C
10 mi
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150 ml
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& N 5N

CAS number

Chemical
formula

Molar mass
(g/mol)

Density
(9/cm?3)

Melting point
(°C)

Boiling point
(°C)

64-19-7 71-36-3 1310-73-2
CH,COOH  CH,CH,CH,CH,OH NaOH
60.05 74.12 39.99
1.049(I) 0.809 2.1
16.5 -89.5 318
118.1 117.7 1390
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413 1: 1-Butanol 20ml x 22| F=
1 0.5N CH;COOH +8% 40mIE 24 Zu|of E=C}

2 1-Butanol 20mlIE F5}0{ CH,COOH =8 0| E 2HZu7|0 d=C}

3 2oy 7| o] OI7fE =t 3~527t =ESHES S50 H A=Ct
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6 H|#0| 7%l ol2jE M = 10mlIE F S 100ml &4 E2tA30] @0 22 £1j
(10m|)_ S5+ E 7St}

. ¢l H4ZSetA230 Hs=gyQ XA 3~4ES E0 F30| = 0.5N NaOH EE8
o2 MHsIo| ZUMNK| LHIEl NaOH 89| K| E 7|EiC

Z 2% 10mIE F oI AHZE2tA230] 21 iil-‘éEEa*Eil
8 %%tmil % 0.5N NaOH Ex=8do 2 MX sl ZUHM}X|

9 1.0N, 1.5N, 2.0N CH;COOH &4 3 0|85}0] 2|2 upPdS HHE L},
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& E 1. CH,COOH &

AlS11: 1-Butanol 20ml x 28| F==

3L 8% SE(M)

CH,COOH xixi = ooy | 0-5N NaOH 8% | CH,COOH £ |CH,COOH &% 5k
TEHSEZ(N) e e en AH| BT (mL) (mol) (M)
1-Butanol S(A)
0.5N
= 5(B)
1-Butanol S(A)
1.0N
= 5(B)
1-Butanol S (A)
1.5N
= 5(B)
1-Butanol S(A)
2.0N
= 5(B)




Al 2: 1-Butanol 40ml x 12| ==

CH;COOH X = 208 0.5N NaOH 8% | CH,COOH &% |CH,COOH 8% &£&
TE8ASE(N) e e e AH|E1] (mL) (mol) (M)
1-Butanol &S(A)
0.5N
= 35(B)
1-Butanol & (A)
1.0N
= 5(B)
1-Butanol S(A)
1.5N
= 5(B)
1-Butanol S (A)
2.0N

= 5(B)
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H 2-1. THEXL 71 2HiA ¢

= i Al =
KD=CA/CB
CH,COOH CH,COOH CH,COOH CH,COOH
0.5N 1.0N 1.5N 2.0N
e
(20mL x 23)])
Alsd2
(40mL x 13])

H 2-2. n2X} 3|8ty 71H: 2HjAIS U n g

=Hi Al .
I(D
A
(20mL x 22])
Hde2

(40mL x 13])




H 2-2-1. AellZ(log Cz = nlog C,— log Ky )

CH,COOH i 2 on CH;COOH 8% 55X (M)
+8H 5E(N) tesen HE 22
(20mL x 2%]) (40mL x 13])

05N 1-butanol S(A) log C,
= 5(B) log Cp

1 ON 1-butanol &(A) log C,

. = 5(B) log Cp
15N 1-butanol S(A) log C,

. = 5(B) log C;

5 ON 1-butanol F(A) log C,

' £ 3(B) log C;




